










M6*47

M6*50

1

2

3

4

6

7

8

9

5

Frame 

W Leg

10

11 1pc

 

 

 

 

 

 

15FT 

12pcs 

12pcs 

6pcs

6pcs

6pcs

6pcs

6pcs

6pcs

/

12pcs

16FT

12pcs 

12pcs 

6pcs

6pcs

6pcs

6pcs

6pcs

6pcs

/

12pcs 

1pc

Balance Bar
 

Bottom Pole

 Upper Pole

Screw set 9

Screw set 10 

Frame Cover

T Connector

Leg Extension 
With 3 holes

Leg Extension 
With 2 holes

4



M6*75

M6

12

15FT

1pc

D

E

16FT

Enclosure Net 1pc

13

A

B

C

12pcs

1pc

1pc

9pcs 10pcs

12pcs

1pc

1pc

F

G

2pcs

3pcs

2pcs

3pcs

H M6*35 6pcs 6pcs

Spring

Jumping Mat

96pcs 108pcs

1pc 1pc

Net Rope

Screw set A

Wrench 

Ladder Tube F

Spring Tool

Ladder Tube G

Ladder 
Screw Set

5



STEP 1

STEP 2

#3

#4

5

1
2

3

4 3
4

3

4

3

4
3

4

3

4

Insert Steel T-Connector (#2) into the frame Tube #1,untill 
it forms a circle.Please make sure thick hole always matches thin hole.  

Tips: if the tubes do not fit perfectly, you can knock the tubes with 
hammer and make tubes stick out perfectly.The frame will be more durable 
and stable.

1

2

2

2

2
2 2

2

2

2

22
2

1 1

1

1

1

1

11

1

1

1

3

5

4

3

4
5 3

3

3

3

3

4

4

44

4

5

5

5

5

5

5

5

5

5

5

5

 

 

extension (#3 #4) under the finished Circle frame (#1)STEP 3 Continue to assemble finished W shaped legs (#5) with Leg 
 through

the round hole of  Steel T-Connector (#2).

Tips: Make sure W shape legs #5 with sticker face the 
inside of trampoline.

4

3

5

keep thist
 side insi

de

keep thist
 side insi

keep this side inside 

Assemble leg extension (#3) (#4), W shaped legs (#5)(as
 the picture show）.Always make sure the sticker side 
of W shaped legs face to the inside of trampoline.

Assemble leg extension (#3) on the left, leg extension  
(#4) on the right. 

de

keep this side inside

*Leg Extension (#3) 
with 3 holes

*Leg Extension (#4)
with 2 holes

6



STEP 4

STEP 5

6

6
6

6

6
6

6

10

10

3

4

C

C
B

B

B

B

B

B

B

B

B

B

B

B

B

B

B

B

C

Layout the Jumping Mat (#C) inside the circle frame. Insert Spring (#B) in the 
triangle ring of the Jumping Mat (#C) and pull it with Loading Spring Tool (#D) 
and then insert the other end into the frame tube hole.

 

2

4

7

 

 

  

Assemble Balance Bar *#6) behind the hole of leg 
extension (#3 #4) (as the picture show), and lock it with
 Screw set (#10). 



11

7

7

7

7

7

7

3

A

A

B B

C C

11Pave Frame cover （#11） on the trampoline circle frame （#1） from top to down.

STEP 6 Tie strings on the frame cover （#11） on the circle frame （#1）. 

7

3

7

 Top hole face 
the inside of trampoline

STEP 7

3 3

 

Assemble Bottom pole （#7） on the top two holes of leg extension 
（#3）
As the picture on the right show.Align the hole, and lock the 
bottom pole (#7) with Screw set A.

Tips: Make sure top hole of Bottom pole (#7) face the trampoline

.

8



STEP 8

STEP 9

8

8

8

8

12

STEP 10

Pass 6 straps on the Enclosure net (#12) through the ring of the Upper pole  
(#8), along the upper pole (#8). Tie it up just like the photo on the right

12

12

12

12

7

8
7

8

7

8

7

8

7

8

7

8

 

Insert upper pole #8 on the top end of Bottom pole (#7). 

Press the bump and make upper pole #8 and bottom pole (#7) 

connected closely.

 

Net Rope (#13) on a rope from the bottom 
edge  hole of Enclosure net (#12) to metal
  
triangular ring of jumping mat (#C).

Tie strings forms a entire circle, like
the photo below. Mare sure start to tie 
strings from either side of zipper door.

12

C

13

9



STEP 11

STEP 12

Ladder Tube # F and Ladder 

Tube # G are parts of ladder.

Lock ladder with screw set H, 

like the photo on the right. 

Put finished ladder 

under the zipper door of 

trampoline.

F

F

G

G

G

H

10



11



Warning     ：please don't dunk, or you will damage the basket and trampoline.

12



13


	图1 Model (1)
	图1 Model (1)
	图1 Model (1)
	图1 Model (1)
	图1 Model (1)
	图1 Model (1)

